Rev te MGC TWIN FAN
C COOLING KIT
VERY IMPORTANT NOTE

This Revotec Cooling Kit has been engineered to provide perfect cooling an original, un-modified
MGC. However it is essential the other components of the cooling system are operating correctly.
The following must be checked:
1. The radiator has a normal life expectancy of approx 8-9 Years after this time it should be thoroughly assessed and if there are
any signs of deterioration such as furring up internally or it is out of shape it is recommended it is replaced.
2. The Radiator fins Must be clear of all debris such as mud and leaves.
3. The system Must be filled with correct coolant.

4. The water pump and thermostat must be operating correctly.

1: Disconnect +ve battery terminal, drain the
water system, remove the top and bottom hoses and
remove the radiator/shroud assembly, then remove
the original mechanical fan.

2. Using Fig.1 as a guide, slide the studs of lower
LH bracket (Iltem 2) through the lugs on the LH fan
(Item 7) then slide 2x 3mm spacers (ltem 9) onto each
lug, then the upper LH bracket (Item 1) and 2x 6mm
washers (Item 11) and fix into place using 2x M6 nuts
(ltem 12).

3 Slide the studs of lower RH bracket (Iltem 5) .
through the lugs on the RH fan (ltem 7) slide 2x 3mm o
spacers (Item 9) onto each lug, then the upper RH
bracket (Item 6) and 2x 6mm washers (ltem 11) and
fix into place using 2x M6 nuts (ltem 12).

4, Lay the lower centre bracket (Iltem 4) on a flat
surface and place 2 fan assemblies over the studs to
join them together using Fig. 1 as a guide, then slide
4x 7.8mm spacers (Item 8) onto each lug, then the
upper centre bracket (Item 3) and 4x 6mm washers
(Item 11) and fix into place using 4x M6 nuts (Item
12).

5 An extra pair of hands will be beneficial at
this point. Lay the radiator front down on a flat
surface, then carefully lay the twin fan assembly in
position aligning the holes in the brackets with the
holes in the radiator. Lower the fans and radiator into
position in the car with the fans positioned between
the radiator and the engine and using Fig.3 as a
guide, mount in place using the 40mm spacers (Item
14) 8mm washers (ltem 13) and 63.5mm bolts (ltem
10), in the following sequence: radiator, washer,
spacer, washer, bracket, washer then bolt.

6. Position the fan controller in a suitable place in
the top hose, reconnect and refill the water system,
connect the fans in parallel as shown in Fig.4, follow
the seprate Electronic Fan Controller instructions for Washer
information on wiring and setup.

Fig.1

Revotec Ltd, Unit A, The Croft, Hithercroft Industrial Estate, Wallingford, Oxfordshire, 0X10 9RG

Tel: 0044 (0) 1491 824424 ' Fax: 0044 (0) 1491 833711 Email: sales@revotec.com ' www.revotec.com




MGC TWIN FAN

COOLING KIT 070067

Fig.4 .
RED + + 12 VOLT SUPPLY
_ _ RED =
e = FAN
Electronic _
¥ | BLUE 1 BLUE
Controller
BLACK FAN

=|| + 0 VOLT (EARTH)

ltem 10
x4

ltem 11 ltem 12 ltem 13 Item 14

x8 X8 x12

Revotec Ltd, Unit A, The Croft, Hithercroft Industrial Estate, Wallingford, Oxfordshire, 0X10 9RG
Tel: 0044 (0) 1491 824424 Fax: 0044 (0) 1491 833711 Email: sales@revotec.com www.revotec.com




Revotec

Tel: +44(0)1491 824424

INSTALLATION INSTRUCTIONS
www.revotec.com

DOCUMENT: 070094
KIT
CONTENTS

TWIN FAN EARTH KIT

9

UNINSULATED FEMALE SPADE FAN CONNECTOR BLOCK
CRIMP CONNECTOR x4

5mm INSULATED RING

X CRIMP CONNECTOR x2
7] T

| }
|
BLACK CABLE x1

BLUE CABLE x1 CABLE TIES %3

HEAT SHRINK TUBING x2
(OPTIONAL)
FOR COVERING COMNECTORS
SIGNED OFF BY; kz)

1 _ DATE: 727. 5.75

THE CORRECT CRIMP TOOL MUST BE USED TO ASSEMBLE THIS KIT.

FAILURE TO USE THE CORRECT TOOLS MAY RESULT IN MALFUNCTION OF THE COMPONENTS
WIRING
DIAGRAM

e

S +
Connect thick RED wire to 12V FUSED supply.

Caonnect thick BLUE wire to positive
supply terminal of BOTH fan motors

. @\\\ Ty //]d

Connector blocks included
in Twin Earth kit.

EARTH

P
EARTH

Installations are to be undertaken by a competent vehicle mechanic. If in doubt, consult a qualified professional.
Always work in a safe environment and wear PPE where necessary.
Disconnect the vehicle battery before beginning installation.

Copyright ©2022 Revotec Ltd.

DOCUMENT: 070094 ISSUE 02 - JANUARY 2023 SHEET1ofl



	G417 - Revotec MGC Cooling Kit 2
	G417 - Revotec MGC Cooling Kit
	G417

